
 
APCalculus2017 

1 
 

 

 

 

 

 

 

 

 

 

 

ANS 

(a) Riemann sum 
10

0
( ) 176.3A h dh   

(b)  

(c) 
10

0
( ) 101.325f h dh   

(d) Chain rule 
9

( ) ( )
h

V h f x dx=  ，
5 ... 1.694h

dV

dt
= = =  
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ANS 

(a)
2

0
( ) 20.051f t dt =  

(b) '(7) 8.120f = −  

(c) -f(5)=-2.263<0 

(d) 
8 8

3 0
50 ( ) ( ) 23.34g t dt f t dt+ − =   
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ANS 

(a) f(-6)=f(-2)+
6

2
'( ) 3f x dx

−

−
= ， (5) 10 2f = −  

(b) [-6,-2] and [2,5] 

(c) '( ) 0f x =  x=-2,2，the absolute minmum is (2) 7 2f = −  

(d) 
1

"( 5)
2

f − = − ， "(3)f 不存在 
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ANS 

(a) y=91-16t，43 

(b)  

(c) 312
( ) 27 ( ) ,0 10

3

t
G t t

−
= +   ，54 
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ANS 

(a) 0 1t   

(b)1<t<3 or 5 8t   

(c) (2) 4Qa = − ，decreasing 

(d)
3

0
(3) (0) ( ) 23Q Q Qx x v t dt= + =  
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ANS 

(a) '( ) 1f  = −  

(b)chain rule 
1

'( )
3

k  =  

(c) '(2) 3m = −  

(d) 
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ANS 

(a)0.648 

(b)  

(c)

2

0
( )

0.485

0
2

A

w d
w



 


= =

−


 

(d)  



 
APCalculus2017 

8 
 

 
 

 

 

 

 

 

 

 

ANS 

(a)
15

'(3)
4

f = −  

(b)  

(c) 
5

8
( ) ln( )

5
f x dx



=  

(d)  

 Or by limit comparison test 
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ANS 

(a)  

(b)  

(c)  

(d)  


